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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3536 ±Constant = 3.266 

 0.691 ±Mean     = 119.1 

 0.4886 ±Sigma    = 7.817 
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 0.3441 ±Constant = 3.179 

  0.71 ±Mean     = 117.7 

 0.502 ±Sigma    = 8.033 
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 0.3279 ±Constant = 3.029 

 0.745 ±Mean     = 119.7 

 0.5268 ±Sigma    = 8.429 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3523 ±Constant = 3.255 

 0.6934 ±Mean     = 118.8 
 0.4903 ±Sigma    = 7.845 

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3523 ±Constant = 3.255 

 0.6934 ±Mean     = 118.8 
 0.4903 ±Sigma    = 7.845 

Vt50 (mV)70 80 90 100 110 120 130 140 150 160

n
(C

h
an

n
el

s)

0

1

2

3

4

5

6

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3506 ±Constant = 3.238 

 0.6969 ±Mean     = 119.2 
 0.4927 ±Sigma    = 7.884 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3262 ±Constant = 3.015 

 0.7486 ±Mean     = 119.7 
 0.5288 ±Sigma    = 8.469 
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 2.563 ±Constant = 23.68 
 0.09531 ±Mean     = 52.54 
 0.06739 ±Sigma    = 1.078 

Chip 0 Gain at 2.00fC Nent = 128    

 2.563 ±Constant = 23.68 
 0.09531 ±Mean     = 52.54 
 0.06739 ±Sigma    = 1.078 

Gain (mV/fC)0 10 20 30 40 50 60 70 80 90 100

n
(C

h
an

n
el

s)

0

5

10

15

20

25
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  2.21 ±Constant = 20.41 
 0.1105 ±Mean     = 52.17 
 0.07816 ±Sigma    = 1.251 
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  2.21 ±Constant = 20.41 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.569 ±Constant = 23.73 
 0.09511 ±Mean     = 51.58 
 0.06725 ±Sigma    = 1.076 
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 2.704 ±Constant = 24.98 

 0.09035 ±Mean     = 53.12 

 0.06388 ±Sigma    = 1.022 
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 2.892 ±Constant = 26.71 

 0.08448 ±Mean     =  52.7 

 0.05973 ±Sigma    = 0.9557 
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 2.892 ±Constant = 26.71 
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 0.05973 ±Sigma    = 0.9557 
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 2.171 ±Constant = 20.06 

 0.1125 ±Mean     =  52.2 

 0.07956 ±Sigma    = 1.273 
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 2.171 ±Constant = 20.06 

 0.1125 ±Mean     =  52.2 

 0.07956 ±Sigma    = 1.273 
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Chip 0 Extrapolated Offset Nent = 128    
 1.227 ±Constant = 11.33 

 0.6374 ±Mean     = 14.15 
 0.4507 ±Sigma    = 7.211 
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 1.247 ±Constant = 11.52 

 0.627 ±Mean     = 13.37 
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 1.247 ±Constant = 11.52 
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 1.086 ±Constant = 10.03 
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 1.086 ±Constant = 10.03 
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 0.6867 ±Mean     = 12.24 
 0.4855 ±Sigma    = 7.769 

Chip 3 Extrapolated Offset Nent = 128    

 1.138 ±Constant = 10.52 
 0.6867 ±Mean     = 12.24 
 0.4855 ±Sigma    = 7.769 

-60 -40 -20 0 20 40 60 80

n
(C

h
an

n
el

s)

0

2

4

6

8

10

12

Chip 4 Extrapolated Offset Nent = 128    

 1.168 ±Constant = 10.79 
 0.6692 ±Mean     = 13.42 
 0.4732 ±Sigma    = 7.571 
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 1.043 ±Constant = 9.632 
 0.7498 ±Mean     = 15.35 
 0.5302 ±Sigma    = 8.483 
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 1.043 ±Constant = 9.632 
 0.7498 ±Mean     = 15.35 
 0.5302 ±Sigma    = 8.483 
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 4.728 ±Constant = 43.67 

 3.445 ±Mean     =  1550 

 2.436 ±Sigma    = 38.97 
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 4.728 ±Constant = 43.67 

 3.445 ±Mean     =  1550 

 2.436 ±Sigma    = 38.97 
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 3.954 ±Constant = 36.52 

 4.119 ±Mean     =  1589 

 2.913 ±Sigma    = 46.61 
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 3.954 ±Constant = 36.52 

 4.119 ±Mean     =  1589 

 2.913 ±Sigma    = 46.61 
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 4.546 ±Constant =    42 

 3.582 ±Mean     =  1587 
 2.533 ±Sigma    = 40.53 
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 4.546 ±Constant =    42 

 3.582 ±Mean     =  1587 
 2.533 ±Sigma    = 40.53 
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 5.163 ±Constant =  47.7 
 3.154 ±Mean     =  1527 
  2.23 ±Sigma    = 35.69 
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 5.758 ±Constant = 53.19 
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 5.758 ±Constant = 53.19 
 2.828 ±Mean     =  1534 

     2 ±Sigma    =    32 
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 4.021 ±Constant = 37.14 
 4.051 ±Mean     =  1567 
 2.864 ±Sigma    = 45.83 
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 2.864 ±Sigma    = 45.83 
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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.345 ±Constant = 3.173 

 0.7112 ±Mean     = 119.4 

 0.5033 ±Sigma    = 8.046 
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 0.345 ±Constant = 3.173 

 0.7112 ±Mean     = 119.4 

 0.5033 ±Sigma    = 8.046 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3677 ±Constant = 3.397 

 0.6644 ±Mean     = 117.5 

 0.4698 ±Sigma    = 7.517 
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 0.3677 ±Constant = 3.397 

 0.6644 ±Mean     = 117.5 

 0.4698 ±Sigma    = 7.517 
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 0.3519 ±Constant = 3.243 

 0.696 ±Mean     = 118.6 

 0.4925 ±Sigma    = 7.874 
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 0.3346 ±Constant = 3.091 

  0.73 ±Mean     = 122.2 
 0.5161 ±Sigma    = 8.259 
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 0.151 ±Constant =  1.35 

 1.714 ±Mean     =  60.7 
 1.381 ±Sigma    = 18.93 
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 0.151 ±Constant =  1.35 

 1.714 ±Mean     =  60.7 
 1.381 ±Sigma    = 18.93 
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 0.3394 ±Constant = 3.136 

 0.7196 ±Mean     = 121.2 
 0.5088 ±Sigma    = 8.141 
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 0.5088 ±Sigma    = 8.141 
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 0.0885 ±Mean     = 52.36 
 0.06258 ±Sigma    = 1.001 
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 2.128 ±Constant = 19.66 
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 0.08118 ±Sigma    = 1.299 
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 2.333 ±Constant = 21.55 

 0.1047 ±Mean     = 53.55 

 0.07404 ±Sigma    = 1.185 
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 0.3006 ±Constant = 2.756 

 0.8267 ±Mean     = 27.52 

 0.6021 ±Sigma    = 9.279 
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 2.269 ±Constant = 20.96 

 0.1077 ±Mean     = 54.78 

 0.07612 ±Sigma    = 1.218 
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 0.9505 ±Constant =  8.78 
 0.8225 ±Mean     = 6.449 
 0.5816 ±Sigma    = 9.306 
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 1.118 ±Constant = 10.33 
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 2.734 ±Mean     =  1571 

 1.933 ±Sigma    = 30.93 
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  4.53 ±Constant = 41.85 

 3.595 ±Mean     =  1515 

 2.542 ±Sigma    = 40.68 
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 4.721 ±Constant = 43.61 
  3.45 ±Mean     =  1552 
 2.439 ±Sigma    = 39.03 
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 1.275 ±Constant = 11.78 
 12.77 ±Mean     =  1429 
 9.031 ±Sigma    = 144.5 
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 4.921 ±Constant = 45.46 
 3.309 ±Mean     =  1531 
  2.34 ±Sigma    = 37.44 
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 4.921 ±Constant = 45.46 
 3.309 ±Mean     =  1531 
  2.34 ±Sigma    = 37.44 
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